
ECE1 : Année 2011-2012 

T.D. n°12 : Correction 
 
Exercice 1 
program ex1; 
type polynome=array[0..3] of integer; 
var  a,pa:real; 
     p:polynome; 
     i:integer; 
begin 
  writeln('Donner les coefficients de P'); 
  for i:=3 downto 0 do 
   begin 
     writeln('Coefficient en X^',i); 
     readln(p[i]); 
   end; 
  writeln('Donner la valeur de a'); 
  readln(a); 
  pa:=P[3]*a*a*a+P[2]*a*a+P[1]*a+P[0]; 
  writeln('P(a) vaut ',pa); 
  readln; 
end. 
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program ex2; 
type polynome=array[0..100] of real; 
var p:polynome; 
    x,px:real; 
    k:integer; 
begin 
for k:=0 to 100 do p[k]:=k*(k-1); 
writeln('Donner un r‚el x'); 
readln(x); 
px:=p[100]; 
for k:=99 downto 0 do px:=px*x+p[k]; 
writeln('P(x) vaut ',px); 
readln; 
end. 
(8/27 = 0,962962962…) 
 


